Problems Report

Page 60, Problem 3:

Write a program that asks the user to enter a two-digit number, then prints the number with its digits reversed. A session with the program should have the following appearance:
Enter a two-digit number: 28

The reversal is : 82
*SOL*

The solution will be this way by using the reminder:

printf("Enter a two-digits number: \n")

scanf("%d%d",&i, &j);

z= i%j;

y= j%i;

printf("The reversal is : %d%d\n", z, y);
Page 60, Problem 6:

Show the output produced by each of the following code fragments. Assume that i, j and k int variables.

a) i = 7; j = 8

i *= j + 1

printf(“%d %d”, I, j);

b) i = j = k = 1;

i += j +=k;

printf(“%d %d %d”, i, j, k);

c) i = 1; j = 2; k = 3

i -= j -= k

printf(“%d %d %d”, i, j, k):

d) i = 2; j = 1; k = 0

i *= j *= k;

printf(“%d %d %d”, i, j, k);

*SOL*

We’re applying the codes as they are after identifying the integers to the compiler. The programs are written in the attached disk.

Page 61, Problem 9:

Supply parentheses to show how a C compiler would interpret each of the following expressions.

a) a * b – c * d +  e

b) a / b % c / d

c) – a – b + c - + d

d) a * - b / c – d

*SOL*

Easily, we give the a,b,c,d and e any numbers as integers. And apply the equations attached with the printf code follows each one of them to show up the result of each one.

I have written them all in one program that gives their result in a line for each.
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